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QUESTION 1

As an HR Administrator, you are responsible for entering Pending workers into Oracle Global Human
Resources Cloud.

Identify the three options that are correct for the Pending worker.

A. A person number is associated with a Pending Worker.

B. An employee number is associated with a Pending Worker.

C. A person who already has a person record cannot be a Pending Worker.

D. This is a person for whom you create a person record that is effective before the hire date.

Correct Answer: ACD

QUESTION 2

During implementation, a two-tier employment model has been set up. Now the client wants to store employment terms
and contract details for its employees. Which statement is true about moving from two-tier to a three-tier model?

A. The client can have both: a two-tier employment model can remain for its existing employees, and a three-tier
employment model can be created to hire new employees within the same legal employer.

B. The client cannot move from a two-tier to a three-tier employment model after the model has been implemented.

C. The client can move from a two-tier to a three-tier employment model at any point of time, irrespective of the
existence of work relationships.

D. If no work relationships exist in the enterprise or legal employer, then the client can switch from a two-tier to a three-
tier employment model.

Correct Answer: D

QUESTION 3

Your customer wants to know how many employees are leaving the organization on their own.

What is the correct sequence of steps that you need to perform to meet this requirement?

A. Create a new action type > Create a new action > Create a new action reason and use it during termination.

B. Create a new action reason > associate the action reason with a new or existing action > Use that action and action
reason during termination.

C. Create a new action reason and associate it with the available action type. Use it during termination.

D. Create a new action type > Create a hew action reason and use it during termination.
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E. Create a new action > Create a new reason and use it during termination.

Correct Answer: C

QUESTION 4

An IT company\\'s consulting department based in Bangalore goes for two team outing events every year. However, the
support department, also basaed in Bangalore, goes for four team outing events every year. All employees in these
departments go for the respective tam outing events.

How should you define the calendar events?

A. Use Geographic Hierarchy as the Hierarchy type for the calendar event.

B. Use Line Manager Hierarchy as the Hierarchy type for the calendar event.

C. Use Absence Approval Hierarchy as the Hierarchy type for the calendar event.

D. Use Organization Hierarchy as the Hierarchy type for the calendar event.

E. Use Project Manager Hierarchy as the Hierarchy type for the calendar event.

Correct Answer: D

QUESTION 5

You want to track changes to certain Oracle Global Human Resources Cloud records, for example,
changes to employment and assignment records. You want to create your own actions and associate them
with predefined action types.

Identify two correct statements about actions. (Choose two.)

A. User-defined actions can be created and linked to predefined action types.

B. An action must always have an action reason associated.

C. Only one action can be associate with an action type.

D. Actions can be launched from the Organization Chart page and are controlled by data security.

E. Actions are not a mandatory work structure.

Correct Answer: AD
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